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Exam B

QUESTION 1
Which data attribute(s) must a Data Integrator file contain to determine if the data being imported should create new records or update existing records?
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A. ID field

B. SPECJD field

C. Control Number field

D. All elements of the Publish Name

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 2
Which property must be defined during the creation of a locator that will display information about a secondary business object record?

A. the association string

B. the Live Link Property

C. the Edit Mapping Property link

D. the secondary's object forward association

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3
After making a change in a form, what action must be selected to make the change visible to end users?
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A. Reset

B. Publish
C. Preview
D. Validate

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4
Which workflow type updates the database immediately?

A. synchronous workflow using temporary data
B. synchronous workflow using permanent data
C. asynchronous workflow using temporary data
D. asynchronous workflow using permanent data

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 5
Which list shows valid report types when creating a new report in the Report Manager?

A. Report, Chart, Plot

B. Chart, Plot, Summary
C. Report, Plot, Summary
D. Report, Chart, Summary

Correct Answer: D

Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 6
A field level formula that depends on a query has been modified within a business object. The query did not change. Which cache must be cleared?

A. UOM Data

B. State Data

C. Query Cache

D. Extended Formula Cache

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
What is the required action to trigger an onChange event?

A. A state transition action is clicked.

B. The field value is changed by a workflow.

C. A field value is changed by a Data Integrator.

D. The user removing the focus from a field after changing its value

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 8
A text field on a form cannot display all of the characters in its value in a single line. How can the visible portion of the field be enlarged on the form?
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A. Adjust the size value for this field in Data Modeler

B. Adjust the minimum size setting for this field in Form Builder

C. Adjust the result column setting for this field in Data Modeler

D. Adjust the column and/or row span settings for this field in Form Builder

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 9
How are runtime filters created?

A. By selecting the appropriate Module, Business Object, and Field in the Advanced tab.

B. By checking the Prompt Before Query check box on the Options sub tab of the General tab.

C. By checking the box marked User and setting the appropriate filter operator for the desired field.

D. By checking the box marked System with a keyword of $$RUNTIMES$$ as the value for the desired field

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 10
Where are sub actions defined?

A. The state transition in Form Builder
B. The state transition in Data Modeler
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C. The state transition in Report Manager
D. The state transition in Workflow Builder

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 11
Where in the Admin Console can it be determined which workflows are currently running in the system?

A. Workflow Events

B. Threads Manager

C. Workflows Executing

D. Workflow Agent Manager

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 12
A user reports that the workflow is updating the wrong set of records. Which workflow task should be checked?

A. Modify Metadata Task

B. Retrieve Records Task

C. Get Temp Record Task

D. Save Permanent Record Task

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 13
If a field is set to Read Only in a business object (BO), how does it affect a form based on that BO?

A. The field will not be allowed to be used in the form.

B. The field will have the Read Only box checked by default in the form, but it can be changed.

C. The field will have the Read Only box checked by default in the form, but it cannot be changed.
D. The field will not be set to Read Only in the form, and the field will have to be set to Read Only.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 14
Which type of workflow can be called from an onClick event?

A. Subflow workflow

B. System workflow

C. Synchronous workflow
D. Asynchronous workflow

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15
What is the purpose of a group override?

A. To exclude a navigation portal section from a portal

B. To exclude a navigation item from a navigation collection

C. To exclude a portal section from the personalization option

D. To exclude a navigation item from being added as related links
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16
How is Workflow Logging turned on in the Admin Console?

A. Check the box for Roll Workflow Logging

B. Check the box for Workflow Logging and click Apply

C. Check the box for Enable All Logging and click Apply

D. Check the box for Workflow Logging and restart the application

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 17
How can some of the Menu tabs be hidden from end users in the system?

A. In the Security Manager, set Access All Profiles to No

B. In the Security Manager, set Personalize Portal to Yes, then hide the tabs in their portal

C. In the Security Manager, set Personalize Bookmarks to Yes, then hide the tabs in their portal

D. In the Navigation Builder, use the Group Overrides to hide these Menu tabs from the end users1 Security Group

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18
Which workflow type updates the screen and not the database?
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A. Synchronous workflow using temporary data
B. Synchronous workflow using permanent data
C. Asynchronous workflow using temporary data
D. Asynchronous workflow using permanent data

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 19

Which statement is true about documents whose document record has been published?

A. They cannot be downloaded.

B. They can never be checked out again.

C. They receive a new major revision number.

D. They can be edited by the user in the application.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20
Which statement is always true about the columns tab of a query?

A. The developer can set field filters against individual fields.
B. The Editable check box is available for each selected field.
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C. The Business Object (BO) section will only show BOs if there are associated BOs set for the query.
D. The columns section will display fields by name and label for the selected BO. grouped by BO section.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 21

An editable report has been created with the name triPeople - triRetired - Editable. The report designer wants to allow the user to be able to unretire multiple
records. The designer has properly set the query to be editable and has selected the proper state. When the designer goes to the query's Advanced tab to set the
actions that will be available to the user, he finds that option is not available. What could be the problem?

A. The report has been created from the My Reports Tab.

B. There are no editable fields in the triRetired state so no actions are allowed.

C. The query is of type Report. Queries of type Report cannot be made editable.

D. The record is not editable for that state so no actions are available from the editable query.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 22
Which statement is true about selecting Live Link when setting up a smart section?

A. The data displayed in the section is related to the choices selected by the user at run time.

B. The data will always be pulled from the referenced record every time the smart section is rendered.

C. The smart section cannot be populated by workflow, dataconnect,or data integrator, only by an active end user.

D. The associations used in connecting the records at run time do not need to be pre-defined but can be established at run time.

Correct Answer: B

Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 23
Which statement is true about how association filters may be used in queries/reports?

A. They cannot be used if using system filters.

B. They can filter based on an association to a fixed record

C. They cannot be used if using a runtime filter against a field.

D. They can filter based on an association determined at runtime by user input.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 24
A customer has reported that the Send E-mail button is failing. The synchronous workflow is not processing. What should be checked with the synchronous
workflow?

A. Make sure it is attached to the onClick event of the button.

B. Make sure it is attached to the onChange event of the button.

C. Make sure it is attached to the save sub action of the state transition.

D. Make sure it is attached to the section action in the section that the button resides.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 25
A customer requests a package of all their People data. How can this request be met?

A. Create a Full Package of the people data, export it, and send it to the client
B. Create a By Date package of the people data, export it to the server, and send to the client
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C. Inform the customer that data packages are too large to be created and therefore it cannot be done
D. Inform the customer that data packages are problematic because record level associations are not maintained

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 26
In the Admin Console DataConnect tool, what is the purpose of Force Clean Up?

A. It fails the completed DataConnect jobs.

B. It retries the completed DataConnect jobs.
C. It readies the completed DataConnect jobs.
D. It removes the completed DataConnect jobs.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 27
A Notification Helper Object needs to be associated to the people records to notify using which association string?

A. Notify

B. Route To

C. Deliver To

D. Notification For

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 28
After clicking the Find action in the Field List panel in the Data Modeler, which three options can be used to limit search results without wildcards? (Choose three.)

A. Type

B. Form

C. Suffix

D. Formula

E. Module Name

F. Business Object Name

Correct Answer: AEF
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 29
A smart section must be created for a business object (BO). What is required in order for this to be possible?
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A. The BO must be in a non-published state.

B. A smart section must be created in Form Builder.

C. The BO must be configured with Has Staging Table.
D. A new data section must be created in Data Modeler.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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QUESTION 30
When creating a new Query section, what must be selected in order to save the section?

A. Association type

B. A predefined query

C. Show Query Header parameter

D. Temp Select Association parameter

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 31
Which statement is true regarding building a form?

A. Sections can be added to the form without being defined in the business object (BO).
B. Data fields can be added to the form without being defined in the BO.

C. Locator fields can be added to the form without being defined in the BO.

D. Smart sections can be added to the form without being defined in the BO.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 32
For a new non-base business object (BO), what is the default origin of the state family?

A. It must be manually imported from another BO.

B. It is automatically imported into the new BO from the module.
C. It must be manually imported from the State Family collection.
D. It is automatically imported into the new BO from the base BO.

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 33
What does using a system keyword within an association filter allow a developer to do?

A. Filter based on relationships to user input at runtime

B. Filter based on a relationship to another query result set

C. Dynamically change the record used as the basis for the association filter
D. Overload the data type provided as the filter source for the association filter

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 34
The Attention section is intended to be hidden by default for a record in null state but it is able to be seen at runtime. What should be done to hide the Attention
section?

A. Configure the Visible setting for this tab in Form Builder

B. Configure the Visible setting for this section in Form Builder

C. Configure the Visible setting for this state transition in Form Builder
D. Configure the Visible setting for this state transition in Data Modeler

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 35
A state transition is not supposed to be available as a clickable action in a form at runtime but it appears anyway. Why?
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A. The state transition is not configured to be excluded in the Sub Action properties.

B. The Hidden Action property is not configured correctly in the State Transition properties.

C. The Default Display property is not configured to be excluded in the Sub Action properties.
D. The Secondary Action property is not configured correctly in the State Transition properties.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 36
Which statement is true about a Publish Name (also known as BO Mapping)?

A. The Publish Name must start with a field.

B. A Publish Name is not required to publish a BO.

C. The Publish Name may not use multiple field values.

D. Using multiple values for the Name field is allowed only if they come from different BO sections.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 37
The Association tab of a form is not available at runtime. What should be done to make this tab visible?

A. Configure the Show Association setting in Form Builder

B. Configure the Include Association Tab setting in Data Modeler

C. Configure the Visible setting in the Association tab in Form Builder

D. Configure the Visible setting in the Association tab in the pre-load workflow

Correct Answer: A

Section: (none)
Explanation

http://www.gratisexam.com/



Explanation/Reference:
Explanation:

QUESTION 38
Which statement is true about a reference when referring to a smart section or locator field?

A. It indicates a direct link between records.

B. It is a lookup established by using a dependent association.

C. ltis the slowest way to access related data and should only be used in mapping as a last resort.

D. It represents a relationship between records by bridging across the IBS_SPEC_ASSIGNMENTS (association) table.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 39
Which statement is true about deleting objects from an object migration import package?
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A. Objects cannot be deleted from an import package.

B. Objects should be deleted after applying the import package.
C. Only validated objects can be deleted from an import package.
D. Objects should be deleted before applying the import package.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 40
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While working in the Document Manager tool, which statement is true about a document that has been checked out?

A. It is not accessible to the application.

B. It cannot be checked out by another person.

C. It can be checkout out again, but only by the owner of the document.

D. It cannot be checked out again until the document record has been published

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 41
When do we define the additional fields to be populated along with the locator field?

A. At runtime in the record with the Ed it Map command.

B. After the locator field has been saved, with the Edit Map command.

C. At the same time that the locator field is first created and before it is saved.

D. After the locator field has been saved, from the additional fields own Edit Map properties.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 42
The Building form utilizes a Contact query section to show all contacts associated to the Building. A user says that he remembers adding multiple contacts to the
Building record last week but now no contacts appear in the Contact query section. When troubleshooting the associations, which statement is true?

A. The association filter used in the query must also have the association defined in the Report Manager.

B. The association filter for the query in the query section is no longer filtering by the association string created when the form adds records.

C. The association filter used in the query must match what is defined in the Data Modeler's Association List for the Building business object (BO).
D. The association filter used in the query must match what is defined in the Association Manager between the Building and Contact BO.

Correct Answer: B
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 43
Changes have been made to several queries and reports in the system. Which caches must be cleared in the Admin Console so the query and report changes can
be applied?

A. Portal Logo

B. Query Cache

C. Security Scope

D. Object MetaData Cache

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 44
Which workflow type gets fired by a user closing the form to a record?

A. Subflow

B. System

C. Synchronous
D. Asynchronous

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 45
When is a dependent association used by a developer?
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A. When the association is only assignable by workflow mapping.

B. When the association is only valid when used with the module's base business object.

C. When the choice of associations available to a user is dependent on a previous selected association.
D. When the dependent record is to be deleted if the parent record is deleted or the association is broken.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 46
After using the Find option to add existing fields to a business object (BO), which statement is true?

A. Field properties cannot be changed.

B. Field properties are all automatically set to the default values of the last added field.

C. Field properties can be changed, and any changes will be propagated to the original field in the source BO.

D. Field properties can be changed, and any changes will not be propagated to the original field in the source BO.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 47
An object migration package is about to be imported but a few objects are identified that should not be overwritten. What is the best option?

A. There is no other choice but to overwrite these objects.

B. Delete these objects from the package and import the rest.

C. The Comparison Report allows the choosing of what to import.
D. Only select the desired objects to import and then click Import.

Correct Answer: B

Section: (none)
Explanation
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Explanation/Reference:
Explanation:

QUESTION 48
When looking at a workflow instance, what can the red border around a task mean?

A. The task has failed.

B. The task was skipped.

C. The task is a critical task.

D. The task has been completed.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 49
Which workflow tasks can remove an association, not just replace it?

A. Modify Records

B. Delete Reference

C. Associate Records

D. Modify Metadata Records

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 50
Workflows are not running in the system. Where in the Admin Console can workflow processing be turned on?

A. Agent Manager
B. Workflow Events
C. Threads Manager
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D. Workflows Executing

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 51
If the Dependent List box is checked, what must also be specified?

A. List Size

B. Master List

C. Default Value
D. Business Object

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 52
When applying the Sort Section action on a form's tab, which statement is true regardless of the original layout of the sections?
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A. The sections will be reorganized in the order that they were created.

B. The sections will be reorganized in the selected order with the exception of those sections where the Visible property is left unchecked.

C. The sections will be reorganized in the selected order from the bottom of the tab to the top of the tab regardless of the original parameters.
D. The sections will be reorganized in the selected order from the top of the tab to the bottom of the tab regardless of the original parameters.

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 53
Which workflow task can create an association?

A. Trigger Action

B. Modify Records
C. Modify Metadata
D. Retrieve Records

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 54

How can a designer add a field to the form that will trigger a workflow when it is clicked on?

A. Add a field of type Data and attach a workflow to its action
B. Add a field of type Form Field and attach a workflow to its action
C. Add a field of type Form Action and attach a workflow to its action

D. Add a field from the Components pane and attach a workflow to its action

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 55
Which tool can change the name of a form?

A. Form Builder
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B. Data Modeler
C. Reports Manager
D. Association Manager

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 56
A developer has been tasked to create a method to push a record from the null state to the triActive state without having the action available on a form. What should
be done to implement this design?

A. Create a state transition from null to triActive in Form Builder and keep Visible unchecked in the state transition properties.

B. Create a state transition from null to triActive in Data Modeler and keep Default Display unchecked in the state transition properties.

C. Create a state transition from null to tri Draft, another from tri Draft to triActive in Form Builder, and keep Secondary Action checked in the state transition
properties.

D. Create a state transition from null to tri Draft, another from tri Draft to triActive in Data Modeler, and keep Secondary Action checked in the state transition
properties.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 57
Which statement is true about source mapping?

A. It is used only when mapping a smart section or locator field.

B. It is used only when the source object is the object of the start task.

C. It is used only when the source and target objects are the same type.

D. It is used only when there is a temporary association between the objects.

Correct Answer: A
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 58
Which workflow type gets executed by a subaction of a state transition?

A. Subflow

B. System

C. Synchronous
D. Asynchronous

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 59
What action is required to roll the server.log file?

A. Restart the system

B. Click Roll All Logs in the System Manager

C. Stop and start any agent in the Agent Manager

D. Click the Roll Log Image/Link next to the appropriate category in Error Logging

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 60
Multiple DataConnect jobs were supposed to start but have not. What should be checked to make sure the DataConnect process is running?

A. DataConnect
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B. Agent Manager
C. Database Manager
D. Database Query Tool

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 61
What is the most efficient way to add an additional 10 new entries to an existing list?
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A. Use a workflow to add the new list values.

B. Use Data Integrator to import a new list with the new values.

C. Select the list, enter all the values, and then save the entries.

D. In the form that lists the values, enter each value as it is needed for that particular record.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 62
When creating an extended formula there are variable declarations called Inputs. Which statement is true?

A. Inputs are case sensitive and must be used in the order they were declared.

B. Inputs are not case sensitive and must be used in the order they were declared.

C. Inputs are case sensitive and do not have to be used in the order they were declared.

D. Inputs are not case sensitive and do not have to be used in the order they were declared.
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 63
What is the purpose of a group override?

A. To change a navigation item to a group-specific target

B. To change a portal section to a secondary portal type

C. To change a navigation portal section to a specific portal target
D. To change a navigation item so it can be added as related links

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 64
Which statement is true when choosing between using a smart section or locator field?

A. A locator field allows live link; a smart section does not.

B. A locator field can be overloaded with alternate data types; a smart section cannot.

C. A smart section only creates an association; a locator field creates an association and a reference.

D. A smart section can be mapped directly with data integrator using the keyword Associate; a locator field cannot.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 65
Which statement is always true about runtime filters and queries?
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A. Users are limited to three values when using runtime filters.

B. Runtime filters can be set against fields that are not displayed on the query.

C. When using runtime filters, the user must apply filters before seeing the results of the query.

D. Runtime filters allow the system to dynamically alter results (for example based on the record that initiated the query)

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 66
A data load was done incorrectly resulting in a number of records not being set up correctly. There are too many to modify by hand so a workflow gets written to fix
the deficiency. What should the workflow be tied to and triggered from?

A. A Patch Helper

B. A Workflow Helper
C. A Calculation Helper
D. A Notification Helper

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 67
How should an object migration package be exported directly to the hosting server?

A. click on Export then click on Wait

B. click on Export then click on Background

C. save the package locally and then FTP it to the server

D. save the package locally and then e-mail it to the server administrator

Correct Answer: B
Section: (none)
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Explanation

Explanation/Reference:
Explanation:

QUESTION 68
When looking at a workflow instance there is a switch that is inside the body of an iterator that shows that both sides of the switch were executed. Why?

A. Each side alternately executes in switch tasks.

B. Each side was executed during separate iterations.

C. Each side was executed because the switch criteria was left blank.

D. Each side is shown only when the last two iterations resulted in both sides executing.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 69
Where does an onClick event get configured?

A. In the start condition of a workflow

B. In the properties of a tab in Form Builder

C. In the properties of a field in Form Builder

D. In the properties of a smart section in Data Modeler

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 70
The workflow is failing to loop through the records. Which task in the workflow should be checked?

A. lter Task
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B. Switch Task
C. Modify Record Task
D. Retrieve Records Task

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:
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